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0.14 Redlich/Kwong equation: 2 = 0.08664 W= (142748
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HR; ;= R-Ti{(z(ﬁi,qi) - 1] - l.ﬁ-qi-lﬂ {6.04)  The derivative in these

SR; == R-(In(Z(Bi, qi)) - Pi— 0.5q¢1)  (6.65)  equations equals -0.5
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6.17

tm-2m1s (250
K

The pressure is the vapor pressure given by the Antoine equation:

2788.51 T -
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(a) The entropy change of vaporization is equal to the latent heat divided by
the temperature. For the Clapeyron equation, Eq. (6.69), we need the
volume change of vaporization. For this we estimate the liquid volume
by Eq. (3.63) and the vapor volume by the generalized virial correlation.
For benzene:
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By Eq. (3.63), Viig = Ve Ze

Solve Eq. (6.69) for the latent heat and divide by T to get the entropy change

of vaporization:

AS = det{pr - V;,-q) Ans.

(b) Here for the entropy change of vaporization:
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